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Abstract

The study derived from the definition of ellipse: the sum of the distance between
one moving point and two points is constant. I changed the definition into three lines,
and the trail is composed of point P that satisfies mq - d(P,L1) + my - d(P,Ly) + m3 -
d(P, L3) = const. I probed into the situation of when the constant is greater than 0 or
equal 0, and I enable mq, my, m3 to be smaller than 0 or greater than 0. As the result,
I found that the trail I want can be got by using a plane for cutting the quadrangular
pyramid, like the way to have a conic section from a cone. I also found the relations
between the variables of the trail and the quadrangular pyramid. Additionally, I
changed the third line into another point A, which has conic section for the trail,
and it is the point A that is the focal point; On the other way, from the discussion of
the eccentricity, I constructed a triangle model that stands for the relations between
my,my, m3 and slope of Ly, and the sort of conic section which trail belongs to.
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(A). my -dy +my - dy = const.
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B A B B AR A, mq, mp E/NER O, MBS A SR A, DA, B — 5 my - d(P,L) +
my - d(P, A) = c, FTSHEIIR A Bl #h AREE; b0 — 50 0y KB ] 75 A A B B0 o ] e A
TEFE, WA Z & 2.
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BB P AELENE?

221 WFATER

S DR E AR TR Ly, Ly 495 K, 890 P UE d(P, Ly) + d(P, L) = i = d,
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REHE 2.1, I B WAHERAR Ly, Ly BLE)ES P W2 my - d(P, L) +my - d(P,Ly) = const., B
B P B — AT IS, 20 6.
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L, A B, B4 PyA =dy, B =d,, [FBU P € PP, fE PC L L1 /4 C,PD L L, i* D,
4 PP: PP =a:b, ¥

my - PC +my - PD = const. = ¢, c € RT,

WE7 Bk P, P e T, Blm-d =my-dy =c, KA APPC ~ AP P,A(AA),
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Py A T AR R
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(B). mq - d1 + my - dy + m3 - d3 = const.

23 =45

PR A RE: P AR Ly, Ly, Ly B0 /E my - d(P, L) +my - d(P,Ly) +ms-d(P,L3) =
const. BB P, KENEE P AUHLETE?
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2.3.2 HBERERI my - d(P, L) +my-d(P,Ly) = m3z - d(P, L3) HLEHE

By T BT E T RUE, BIeHE my, mo, ma B 1, B RO RRS 1 . An i Ay T B =
AFATER Ly, Lo, Ly B1—B02% P, {15 d(P, L1) + d(P, Ly) = d(P, L3), REBIE & T, Ak
— e, FATRT CALAE 14 % 5 I5kE.
BE Ly B —(AEENES P, P € T, £ P, f54 d(Py, Ly) +d(Py, Ly) = d(Py, L),
/;% P €Ly, Fﬁlfj\
d(P, L) = 0= d(Py, L) = d(Py, L3)

VB Ly, Ly 85 AP 04R5C Ly Y Py, Py B0 oK.
[, 3P € (Ly U Ly) N'T, QA 15, #LEh A

T = (jglpg, U 2P4) — (P1P3 U P2P4) + (PP U P3P4).
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FEH. 1. PP, U P3Py, 3147 (E 16):
N — R, 75 PPy FE—8NBE P, /EPX L Ly A X, PY L Ly i*Y,PZ L Ly i Z.
B PX+PY =PZ, EPX] L Li,P1Z1 L L3 PYs L Ly, PoZy L L3, 7 APXP,
M APX P, H, KA /PP,X = /PP Xq, /PXP, = /P X1 P> = 90°, FiTLA

APXP, ~ AP{X1Po(AA), APYP, ~ AP,Y>Pi(AA).

4 P Xy =a. HEI P, £ LABC ¥4 E—85, Il P Xy = P Z) = a. [#, &
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PPy 351
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2. DS UPT UDPU U DV ¥4 [ EHE, 11535 (B 17).
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Ho At 535 13 M8 SR, AnfEl 18, 7257 B VR
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(a) [EE3E 1 (& 19):
TEPS WM —FEB P, EPT L Ly ML P] L Ly 1], PK L Ly 1 K, .40
PI+P] = PK, {E L, J Ly, L, [ Lo, Ly | Ly, % L3, Ly, Ly TEEE 1 H [E L&
Wik LIE 188 P, BB Ly ) Ly, BTl P'T > PI, BB L, ) Ly, AL




P'J' > PJ, R% Ly J Ls, BT

P'K' < PK= PI+P]=PK>PK
=PI +PJ] >PK
= EIFEBEEERE.

P& DS LUBhES BEE P B8, 1 A LIRS REES 1, MBS 1 A4
(b) EH 2 ~13:
FIEI R I 1 BT 1, B IS8 2 ~ 13 R4
BB TR S — Y, M SRS O, my, my, ms BX 1 BIRHEE
BT AR

O
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233 m- d(P, L1) +n- d(P, Lz) =1- d(P, L3)
L Li:y=0,Ly:y= (tanf)x, L3 : y = (tan¢)x
REH 2.3.

sin ¢
sin 6

SBL

sing—60 _m
l/

> " >
sin 6

—~| 3

A EHEYEE.
1. % d(P,Ly) = dy, d(P,Ly) = do, d(P,L3) = d3, fE A,C € L, B,D € L, A

d(A,Ly) = dy, d(C,Ly) = do, d(B,Ly) = dy, d(D,Ly) = dy, i3 A,B,C,D it
TE R FAT IS A m - d(P,Ly) +n - d(P, Ly) = E(EME.
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2. fE Ly, Ly Jf Ly, BMIBE A dy FOTRIRARAS 1. BOTATIUEM P, i € N, RIBEE R0
KNG FTA Y P AL — T PR E, AnE 21 (KAR), BB E (m,n,1) HHE—BA
i, B A E Y, Qi 23.

/ L. y L
L"S / ° L'S B, L”a ) L'J e L”G

24 25
RO, T MIEEE TATIDE AN ETES A, B,C, D B8 Ly, Ly, 7 &/ HLENE R 1. BT
DAFAF gitaE SR AN AT S e hn DA i, 2
Li:y=0,Ly:y=(tanf)x, L3 : y = (tan¢)x,
d(B,L1) =dy, d(A,Ly) = dp, d(H, L3) = d3,
my-d(P,Ly) +my-d(P,Ly) =ms3-d(P,L3) =d,

anlE 24, 25 HiBEE = OC > OF 8 OD > OH.

oc= % __ 4 Gp_ b _ _d
sin@ n-sinf sing [-sin¢
0D = fjl - d‘ ,OH = — 45 _ ,d
sinff  m-sinf sing —6 [-sing—0
— == 1 1 sing _n
F e
0c>0 :>nosin9>l~sin4) sing 1’
— = sing —6 _ m O
D H —.
oD > OH = >l-sir1gl)—9:> sing 1

. m-sinf
5138 2.4. DUETrEEHY BERERN & SN 7 E.

£ = AR RHL IR E F, T B A DL AR
EE mq - d(P, Ll) + my - d(P, Lz) = ms3 - d(P, L3), xﬁi—ﬂﬁ’ﬁ, EI/% ms3 = 1, ’T’f Lz J:EK
M B Ly B Ly 235868 B O B Ly B2 L, 23586, BU B, C & L, B8~ 22 B

N MB _ MD _
M,B,0,CiwE &z = g5, Bl (MO, BC) = —1.
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FAH. 4niE 26. LAEEAWUBIE R A6, E BE L Ly A E, BF L Ly A F; DG L L3 i* G,
DH L Ly A H,BiWi& my-d(B,Ly)+my-d(B,Ly) =d(B,L3), K& B € Ly = d(B,Ly) =
0.

BE

d B,L :d B,L = - =,

my -d(B,Ly) (B, L3) = m BE

[7] 2 L L o
_d(D,Ls) _ DG _ BE _ BF

d(D,L;) DH DG DH
K% BE ) DG = AMBE ~ AMDG(AA), ¥ AOBF ~ AODH(AA),

BE _BF _MB _OB  MB _ MD
DG DH MD 0D OB OD’
[ Ly | DU2EIRE], B oM TRk IR 0
26
2.3.4 HEVUAHERER
BAEBIEE my-d(P,Ly) +my-d(P,Ly) = myz-d(P, Ls) 75 TR B D B 8 o i 55810,

RN R

T A H L [ 2 5 B (R B AT RD, mT (5 R 5 5 S e OB S HE TR I R LD
&2 [ElSHE AR A5 52T, 2 B — IR BRI, FT7E— (1B L, T Ak — {1 B 86 iy T, AR
BB E BT & — BB, T —EIE T L, B — (6 B f S Ay, an =
28, 29. [& 30, 31, 32 7%V~ TH - A7 B VH A #E i g1+

& 28 & 29
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(a) 4, 2 I HAR  (b) 3, 3 MM () 4, 0 ELUIAR  (d) 3, 2 FAINEEHhAR

Ls
L,
L

L, p Ly

(e) HIFFALUEE (f) 3, 0 FELL AR

& 27

e B
.
X

& 30 & 31

& 32

FI3 1B 2.4 POMEEST LT Ly, Ly A3BI0 7SS, BRREMAT T — (HRTE: Ly 052
L 2.5, ANV I SR TEB T BB P 1, 48 A I 2 Sk,
BB DU, B A A b B S B s
fEm. % Ly |f Ly

A By Ly, Ly 3085, B A EF4E ML, 8110 Eq AO3CEE, C B Eq B E, FUACAREL Ly AOAC
26, D Ky B4R ML, BV Eq FU%CE5, YE BHy L L3, DH, | L3, BH; L Ly, DHy 1 Ly, Hll
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BH, : BH; = DH, : DHy,
Rl

BH; : DH, = BH; : DHy,
anE 33.

33 & 34
By T TR, BT Ey RAMER—IR-F-H &, 20/ 34.
ABCHy ~ ADCH,, ABAH3 ~ ADAH4(AA)
= BH; : DH, = BC : CD,BH;3 : DH, = AB : AD,
MRS, /E DG L it G, anE 35, A AAGD HAMER—R-FIEE 36.

G H I y/Z
D
ML 4 Ly
, F Y
) c
b (1), |G
ML, E
)
1
35 & 36

Sk#. BH, : DH, = BH; : DHy, Bl BC : CD = AB : AD
fi#. BC: AB=CD: AD

Y€ BE, CV EH#5 EF1 V, BH,CI EE DG /* H M I, BH 2 CV A F, H %
AABE ~ ABCF(AA), FItL

BC:AB=FC:IF =HI:GH, 3)
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X ACDI ~ AADG(AA), LA

CD:AD =1D:GD. 4)

i (3), (4) &1, % HI : GH = ID : GD HI15:%.
4 VG =a,VE = b, $iB LR (ML;,i = 1,2,3,4) 8K A K w, Ly EEIIEH M 0,
HITD = atan6, GD = atanw, HI = FC = btan0, GH = VE = btanw

HI tan6 ID _ tan®

=== ,
GH tanw’ GD tan w
#F Ly AT Ly, 1535,

ol

La

/]

& 37

#F L)Ly (BPo=Z), & 37, Kz

BD = CE = d(I},I3), AB = AC (K A& VAHE),

Fir A .
DB _ IC
BA CA’
I RIS, Ly A Tt EL VY A S TE RS T2 B A1 [ BT I RYACER S . O

FUIE TR ZARRIOLE, e A S HE AR B TR BN E T my - d(P, L) +
my - d(P, Lz) = ms3 - d(P, L3) ﬁ{+@%ﬂ{%7 jﬁ%%W\—Fﬁ%ﬁ’

. BB EEARA A w.

. BB T EAR [ B A .
. BB L BT 6;.

. HlEE L, BPRAA 0,.

Ly B2 L B95CH 6, fNIE 38.

—_

N

W

S
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& 38

EH 2.6 7 mq - d(P,Ll) + mp - d(P,Lz) = m3 - d(P,L3) ':F', 4 my = 1, il m =
sin 6 sin 01

tanw-sina-sin@” my = tanw-sina-sin@*
. CEUMAHETARS V, Ly, Ly 2086 O, BV H E, i@ V 5 HEIHY-F 10 Ep, YU Ly, Ly

TIE A,B,C, D %5, ANR—ft:, LUFLL B BE3ERH, & 39 ~ 44.
fEBQ L Ly i* Q,BH L Lz J* H, BK L i K, BF L E; FX F.

39 & 40
H V
B e B F F
o 0 B B
& 41 & 42 & 43 & 44

14 B B A+ mq - d(P,Ly) + mp -d(P,Ly) = d(P, L3) H45

mq - d(B, L]) = d(B, L3>,
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BH _ BF-csca _ (FV-cotw)-csca
BQ BO-sinf (BK-cschs)-sinf’
K% BEVK 2%, fir DL FV = BK
sin 6, sin 64
. . 7 m2 - . . a
tanw - sina - sin 0 tanw - sina - sinf

(7] PHL Lt 7S AR LB [ S ] O
EH 2.7. cosf = cos by - cos .

BVUAERA T, L B L, B3 0, BhEL L, 195K MA 0, BHEL L, B9 A 6,, H
cos = cos 0y - cos By, [E 45 ~ 47.

EHH. SHEMNAMEER V, L, Ly, X 0,0V =c¢, Ly, Ly 73158 Ly it A, B, Ef /BVA =
90°, NR—#tE, M PTEE w B o, BEIRFF d(V, L3) = E1E = r, FIE A 8T 2
IEHTE, BONE—#M, £ ZBVA WLL r AR EG, 85 p EEII L, HF VP L L

WPHVP=r% /PVA=8.
=N
o

<~ mp =

S mp =

& 45

ﬁVAVD

& 47

ok, EAER: DLV B, VA B x BHIER, VB % y SIER, OV % z SHIEM,
P(rcos B, rsin B), A(Secﬁ 0), B(0, Cscﬁ) & LE L=/, tant; = Csriﬁ,tanG = Serccﬁ,
tana = ¢, H AOAB BLERTZEHE

2c2
2/(2+ =58) (@2 + 252)
. 1
V(1 +tan?6;)(1 + tan? 6;)

cosf =

= cos 61 cos 6,
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ZE 2
5T A

s

2.3.5 HEFMEREDTIE
A E = 2 FAM AT DAAE B A A AT AT BT AR B .
(2P
1. HEUP A RS Ly, Ly, B TE Ey (I3 EE AT 15 Ls.
2. H Ly, Ly, Ly 7] HEETBEKAT my, mo.
3. Al w LIFERE, PREBE BN L a 7I1F 0,61, 0, ZHHSLITHE, AIRTT 0,04, 0,
4. 4% DL b SRAS S O AT AR B R

E}{'A% W —EEINE — 44 mq, My B =4 45%E my,my, 0

[
ino ino
my = s1r.1 2 —, My = s1r.1 ! ——, cosf = cos b - cos by,
tanw - sina - sin @ tanw - sina - sin @
Fr LA ,
m sin 6
my  sinf
/7\,\
my sinf,
m, sinf;
3 RV =
my; __ Sin92 _ k
my - sint91 -
{ cosf = cos By - cos by
5
-1)+ 4k? 0
cos? 6 = V(2 5 ? + 4k cos? . (HUE, AAE)
2k
lim cos? f; =1, lim cos? 0 =1,
—00 k—0
k=1FHH,

cos? 0, = cos? 0, cos 0 < cos? 0 <1,
WA 15 —4Hf# cos 07, cos 0y, Rl By

T
— —a < cosbq,cosbr, < —,

2
Ffr AT DT840 2 _Eofefbk PR o R0 T RO A E, R
Sin92
mq =

tanw - sina - sin 6’
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G .
sin 6,
tatnw=—-—,

mq - sing - sin 6

BT w AT R,

23.6 my-d(P,Ly)+my-d(P,Ly) =ms-d(P,L3) +c

YEHE.

VER: [ 2.3.3 Frig, (A e 2.1 f AT ISR B RN ol BRAERE TSR INAR
TE Ml B o B R AW E P52, GBI ME R FTE 2.3.2 B e HE 2.2 TR K AOAm G LR
d(P,Ly) +d(P,Ly) +d(P, Ly) HLEFE FIIEREE: FREAE Ly, b3 — 8RS Py, P € T, f#
Py f5& d(Py, L) +d(Py, Ly) = d(Py, Ls), A% Py € Ly, FrkA

d(Py,Ly) = 0= d(P, L) =d(Py, L3),

{E Ly, Ly 82774858 Ly B Py, Py B FTSK.

& 48 & 49

MM E ¢ 21%, FIE RS Ly % ¢ 2 L, LUE 50 %41, Fr ZR9siE T % L
Ly, Ly, L' =AR M ERE T, AL Ly £ 5%, 82 L RS AT, BE+IE7R A, B /Y
— KRBT AR, W 50, 7B IR, AR A BT, d0E 51.

50 51
BN BELVU A SRR vh, TR R 01 T B3t TE B 2 E P 2 T S INALAR Ls, TR A2 T

c B L/, FrLITER & F NP csina, 3B AT o AT 10 15 W 2 B8R K A, T —EE
A EHAHE, B 52 ~ 53:
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AVA/ER\ NN

& 52 & 53

- T A B A R, R BT B BUBIAR (1 LA Lg A 5%, — 8L DU A #f, — S BT Y
FSERTA] .

R R T my - d(P,L1) + myp - d(P.Ly) = my - d(P, L3) — ¢ BIIEN, FrEEERIE
VU e S ST th S TR -8 b7 o DL e, R T TELRG SIE AN L 81 A% 7 170 R ELAH 52
AT, T ELARERE, DR 50 ] A AR 7R ARy b T 181 2 e 1) L I .

24 PLR—EY

JRanRE: P b WA SRAR Ly, Ly, —EB A BLiWE my - d(P,Ly) + my - d(P.Ly) = mg -
d(P,A) HIEHEL P, SKENES P BUWLERIE? A7 ERR, N —ES m = m, my = n,
ms — L.

241 WEEERE

RETH 2.8, PSRN E L 2 Y (B S i AR EE A0S 3 [E T

. AT, H R m,n, | DR REHARER, S =55 1
L Li:y=0,Ly:y=kx, A(ab), FE—KME, 2 k>0

Sy Y S e - by

Vk2+1 5)
lkx —y| kx —yl\o _ N2 12
@1/ +2|y|\/—1+(m) _(x a) +(]/ b) N

1. & y(kx —y) >0, P(x,y) € I BT ([FIFER) I, (5) =URT B3 A

1 o 2%k(1-VE+T)
11 er1 Y

2V F1-1, s
-2 2 =0.
2 — ax —2by+a°-+b 0
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+

) 42(1— V2 +1)> —8Vk2 +1+4
§=B>—4AC = ,
(k2 +1)2

Hik

41— V2 +1)2 - 8Vk2 +1+4 -

5>0 0,
v (K +1)2

S k> 08k < —V/3.

(@) & Lo SRR /3 BEHLLN R il AR AH, Q& 54.
(b) & 6 =0 < k= /3, & Ly FHERER /3 RFUB AP AREE, Q& 55.
(€ B o <0 o 0<k< /3 & L BERAT (0, V/3) H#LphA % ELE, a1 56.

-/
" A
7 -
54 55 56

HINAGRIL B IR

2A B D
1 PA
*ﬁﬁéﬁ?A:O@§ B 2C E|W, A5
D E 2F

a2k% + V22 — 202Vkt1 — 2b% — 2abk\/k2 + 1 + 2abk = 0.

(@) Ha=0,81 ABTE x =0 LAUER

= k> —20°VI2+1-2b* =0

& 57

i B b=0,R0 AR R REBE, BREALIRN, d0E 57.
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ii. Eb#0
=Sk -2Vk2+1-2=0
=Sk -2Vk2+1-2=0
=k=1/2v2-1.
HABTEx =0 L, L AER V2v2 — 1 FgiR1L.
(b) a #0, B0 ABATE x =0 ERIENR, [k a?, 4 p=L k=tan0,0<0< T

= k2 + p?k* = 2p?VI2 + 1 - 2p% = 2pkV/I2 + 1+ 2pk = 0

 k(VK2+1-1)  tanf(secf —1) —tan(EJrQ)
T oV +1-2—k 2(secf—1)—tan20 2 2

= % A%y = [tan(Z )]x o 1%, [EGH 467 1, TII 5 AL,

2
AR E IR o A BEEAR, FIRFRAIARE HLTETY, 20 58 ~ 59.

Ly

& 58 & 59

(HR R AR MAAAE 1, 101 B ARG E AR R, R HA— R RE AT R AT
FEHT, LN ERE

R, BT R
1 2k(1 - V2 £ 1)
T
L2vR -1
k2 +1

y? —2ax —2by +a*> +b* =0

IR (2 (2CB-BE, 2AE-BD) 75 1, 111 [&:

2CD — BE 2AE — BD
f>0,f>0.
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(] 2y [E] S i ARAR AL, B b —&Saman
b _y T 0
:>E—p— an(z—i-i).
s bt AN R A

= —kVk2+1+2k+ 2K — Vk+ + <0, HK®E+1<0

k
= k BEEHEE
= TemBER AN, &g HEEMEE A EIER.

2. Hylkx —y) <0, 7E IL IV [& (%) [,

42 (14 VE2 +1)2 +8Vk2 + 1+4
(k2+1)

5 =B%—4AC =

EH5>0
s (K+1)242(RR+1)VE2+1>0,

IR VK2 +1 > —2 = AL, B 5 B ih 48, 101 60.

2A° B D
3. %%%%ﬁi@@c;w:o:i B 2C E|=0,%k=tan6, ZiEtEy = px, 7]
D E 2F
fi# 5
k(KT +1) KVET+1) 0
242Vt 1+k (VRRT1+1) 2
ABTE y = [tan g]x iR, H 61. O
—_— I.y:(tang)x
R —, . L
/ E3212¢
60 61
EHL 2.8 HAKE

1. TERISRIE Ly BRI & LL /3 T 5 B S i AR A TS
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2. 1 E5R I I B AR

0 s I 0 s
g + o)l ER{L, FIREH A TE y = [tan(5)]x EIRIL.

EH29. 2 L:kiLi +kyLy H A€ LI, FriS®LmhE S AL
CHL L ABFER—H4, A A €L, % Aa,b), A (ta, tb), t € R, % A BHEHBIT 2

3. [FSRES A TE y = [tan(

T: Ax® + Bxy + Cy? + 2alx + 2bI%y — 12(a® + b*) = 0.

S, WGEE A (A} € L TSR {T) SHML, B 62 3% A BHEHH R T -
Ax? + Bxy + Cy? + 2al%x 4 2b1%y — 2(a2 + b2) = 0, A" HEFEFHFE T : Ax? + Bxy +
Cy? + 2tal?x + 2tb12y — 122(a2 4+ b%) = 0, % P(u,0) € T B P'(tu, tv) € T, Bl 1535,
.
P(u,v) €T

& [Au? + Buv + Co® + 2al%u + 2b1%v — 2(a* + b*)] = 0

& A(tu)? + B(tu)(tv) 4+ C(tv)? + 2al*(tu) + 2b1*(tv) — I*#?(a®* +b*) = 0

& Pl(tu, tv) € T

& R ATEIR Ly, Ly SCBERISR_EFTTE B BB B AR L. O

& 62

242 MEGEE
PR 2RI E A E = T

R = R,

i —BHBSEIE, 7E R 9R R 1

k x+\/k2+1—1y:
V2 +1 V2 +1

V@ —a)?+ (b,
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[A3fe x, y TERBCT 7 A BR IR E A 15

k ij\/k2+1—1

( k )ZJF(\/1<2+171)2 k2 +1 SN
k2 +1 K +1 k ) \/k2+1—12
()2 + ()

k2+1 k2 +1

= \/(x =02+ (-0,

=tanf, AR—HMHE0< 0 < = 9 By Ly, Ly A, B &1 fE15

— )2 —
~oosind = \/(X a)?+ (y—b)*
2 (sinf)x + (1 —cosf)y
V/(sin0)2 + (1 — cos 0)?

HESEHAREF e d(P 0 AN A B K [EISEHIAREEEE, (sin@)x + (1 — cos 0)y A HIELR.
e
A Ly
63 64

TR T B0y = [ran(5 + z)]x B 241 sk{3 A BETEH @R ILAGRILA,
BB Ly, Ly B4, T RS E A A A . B R A i B a] (m, n, 1):

lkx — y| . _ 2 _ K2
IR mly| +n - N =1 \/(x a)2+ (y — b)2.
FoAFY B P AN B T —RBRAO T VERE B e = d(PL) AU, 7[R 5% I A48 2R

Vm2 +n% —2mncosf _ \/(x—a)2+ (y —b)?
1 (nsinf)x+(m—ncos )y
V/(nsin8)2+(m—ncos6)2

4

Hef

_ Vm2+n? —2mncos 6

o I
B> Vm2+n2—2mncosh = e < 1= EEL ATEELE,
= Vm2+n2 —2mncosf = e = 1 = E#EIAR A T4 LE,
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B 1< vVm2+n2—2mncosf = e > 1 = B4R B8 4R 4.
[ A ok H =R B O %
. \/m2 + n2 — 2mn cos(T — 6)
= l .

243 =fEHEE

G ORISR IR O RS S ¢ = Vortn®-2mncost | g5 1852l SR (% BRTL SR T, FT LATRIEENE
— =R

& 65

AABC % AB=n, AC=m, ZCAB =29
A F AR [ 5% I 1 [ e e A 2

I>BC | I=BC I < BC

A | MREE | YA | ghiE

ANADC H AD =n, AC=m, Z/CDB =m—60
Al AR FE 5% 5 0 (B #fE AR A

I>DC| 1=DC 1 < DC

A | MEEE | s B AR

Ji& T HAIE AR T

66 67 68
66. | HARKIAZATEE =18, FT LATEIR SR B 255 8 By 2 ph 4R,
67. | ERIN=FATEE =5, I LATE R F% R AN 555 S Aifs[E.
68. | KINAE = MAERE =&, NGB =AEHE =8, BT LAITER 55 R A E, =55
[ 7 B A
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24.4 FHEFEER LY

B m-d(P,Ly) +n-d(P,Ly) =1-d(P,A) I, R EATE iR BER
1. BRI 0 s B St AR AE T
2. PAR— B B0 — B A (B g th AR h ) — (I 2 .

3. AR B EAR: (nsinf)x + (m — ncosO)y = 0 % [EISfERT AR HELR, HiE fRiE4R B
2. it SERE Ry [l —SHAC Y, B A BEOIFY AR, BSR4 &R, IRIIETR AT
R 1., 2. EWARIRE R, BELREREE RN RIRFHE, BT AT AT LB B AR &, LA
Ly, L, BB 55 R, Q1B x = a, Al A € #E4R, % A(a,b), PF = e-d(P,L), TE[FI5%
[

:>\/(x—a)2+(y—b)2:e-\x—a|
=1-eA)(x—a)l+(y—b)*=0,

L% [ [ 7.
AY
\ \
\ AN N
AU \ L.
\ A \
L \\ L. \)\» 2
\ 5 :
\ AR 5
AR ek
\ X e
69 70 71

69. EWITAHEEIR, 0 <e<1=x=ay=>bERRILE AL EH AT
[R15RIE, B LUE A2 BRI AR ILIEE.

70. EHIIAIPISRE, e =1 =y = b BRI Al A B6AY B BRI HLR.
71 EEAEHAER, e > 1= (y-b)2?— (2 -1)(x—a)?=0=y—b=+ (x—
a)Ve? —1 = 0 Ky ok ELARE 6 R 57 S A FL 7

[ e A e L R L B AR S AR A, 7

Vm2 +n2 —2mn cos 0
l .

2 2 —
©) BaEs VN L)

(a) FISRER
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2.4.5 FHEER W AR —REARBHOL B B R B E BT E 1 R
IRIELL L5 3, BT AR Rs AR, B% A BEIMELREEEE S p, ANIE 72, BRANE:

e

72
1. PR R R Bk O H LA A B, AR A 0 EEVER ORI R/, BELE =A%
A, T il B A R (B B ph AR 2.
2. —Ef

() H A BIEEVELRTT RSB, [N p EE A, B AR /NS, HEREE A B
MR fE.

(b) & A BRIEEVELGEF RTINS ENRY, p FHE A BRSO, 15 A A S AR
p ORI FRMHCK.

(©) Hl (a), (b) F, & A BHMERB B, "I HBE D MER (), (b) T [, TR H:
AR B R AR /N

E= PN

1] (kPR EER) |, R, BRI, FER, B, WAIE, XS, =i, R
i AR A A IR AT, 1 2 64 H, HHERBIJLH4F HAR.

[2] {The Geometer’s Sketchpad #/EFM) , FKA&E, FUAR, FAN HRR.
[3] CRETEEmdh) | AECETRR, —hi, SLEH AR, F3ERE )\ F HAR.

[4] CHEBUBHT &M BEEERSTLEE 11) | FFRE, BRI, T RUTFBEEEN 7T,
FEHERE\HFENA.

[5] (R APBUEREEREA M ~ EAMD) |, &P BEERE WS R E %, B3]
—hR, B4R, PEREC T =F—A.
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